
A cyclist has traveled 20 km at a speed of 10 km/h
and 15 km at a speed of 5 km/h. What was the cyclists
average speed for this trip?

A perimeter  of an isosceles  triangle is 30 cm. The
base is 7.4 cm. What is the length of each one of the
two equal sides?

Solve the equation: (8164 - n) - 2398 = 2557

Solve Me!
Show your work and include

the "therefore" statement

7 km/h
n = 3209
11.3 cm
37.2 kg and 45.1 kg

Answers
1.
2.
3.
4.
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There were two bags of onions weighing 82.3
kilograms total. The first bag contained 7.9 kg more
onions than the second bag. How many kilograms of
onions were in each bag?


